Module 1 : Signals in Natural Domain

Problem 1

We are given a certain linear time - invariant system with impulse response By (8- We are told that when the input is % () the output is

.}’u(f:" which is sketched in figure below. We are then given the following set of inputs to linear time - invariant systems with the

indicated impulse responses:

| [[Input x(t) [tlmpulse response h(t)
(@ ||xl£)=2xylg) hig) =hy(2)

(b) |[x(E) =) —xl-2) hiE) = by (E)

© ||xE)=xE-2) hit) =l (E+1)

(d) |[x(£) = x (-2 i) = Iy ()

(& ||xlf)=x(~) L) = Ry (1)

® |x=x R(E) =hy (2)

[Here Xulj () and }3:3 () denote the first derivative of % (£) and ;gn (> respectively.]

Y, ()

In each of these cases, determine whether or not we have enough information to determine () when the input is x(2) and the system
has impulse response p () . If it is possible to determine y(;}, provide an accurate sketch of it with numerical values clearly indicated on
the graph.

Solution 1

Given,

Yolt) = xig) * Alz)

»i&)= [ (Am - 2da= [ 2 @hE-2dd— @

@
y(E)=x(g) * At
= T;su)x(z—.aw

- T}zu(i).qu (-2

—n

= 2};0(3) --- From (1)



%®

Figure (a)

(b)
yiE)=xig) * hiz)

= Tx(i)}s[z—i)di

+o

[ {3 (d)— x (-2 3h(t - )24

—n

= T X () (£~ 2)d A~ T x(A— Dk (6= A)d A

Put A-2=k

o

= xu(ijﬁz[z—l)di—Txu(k)}z (e k- 2k

- -

= ylE)—»t—2)

0 2
Figure (b)
%(t+2)
e e
0 2 3

Figure (c)



©
yie) = xig) * hiz)

Tﬂz(i)x(z—i)dl

- T}zu(,?, + Dyt — A — 2)dA

-

Put 2 +1=1k

o

- I,L.;Ur;;c)xu (t—k — )k

-

=ypE—1)

C))

yit) = Tﬁz(,?.)x(z—,?.)d,l

=Tku(i)xn(l—zjd,1

-

y(t) = yt) - % (t-2)

(]
I}

2 3

Figure (d)

4

Figure (e)

In this case, we do not have enough information to predict ()

Q)

y@= [ HA)x-2)dA

= Tkn(—i)xn(i—zjdi

—

Put 1=—k



= Tku () (—k — )k

-

= yi-t)

VAGQY

--= =1

Figure (f)

(P In this case, we do not have enough information to predict y(.t] .

Problem 2
Determine whether each of the following statements concerning LTI systems is true or false. Justify your answer.

() If ;3(3) is the impulse response of an LTI system and ;3(3) is periodic and nonzero, the system is unstable.

(b) The inverse of a causal LTI system is always causal.

©) If |ﬁz[n]|££{f°r each n, where K is a given number, then the LTI system with h[n]as its impulse response is stable.

(d) If a discrete - time LTI system has an impulse response ;g[n]of finite duration, the system is stable.

(e) If an LTI system is causal, it is stable.
(f) The cascade of a non causal LTI system with a causal one is necessarily non - causal.

(9) A continuous - time LTI system is stable if and only if its step response .5'(3) is absolutely integrable, that is, if and only if

o

| st < 0

—

(h) A discrete - time LTI system is causal if and only if its step response .5[?2] is zero for FIFLE

Solution 2

(a) True

Proof: For a system to be stable
+o
[p@de=2 220

If h is periodic with period P (say), then

4o +pl2
| r®las =n | @©)lar  onere 17 e0)
—a —-Ri2

k(£ is non-zero



T|h(t)|cii —>

=

Hence unstable.

(b) False

Counter example :
Let an LTI system
yiE) = xif—t)

Or

x(E) = xit—4)
Which is causal

For its inverse system, ) will be output and 5z} will be input.
i.e.
x(t—1)) —> x(t)

I(f - ED + ED) — I(f + ED) [Using shift invariance]

Which is non-causal.

(c) False

Counter example :
Let

Alr]=kizwi =0
Here

hlal=k yner

But

Sl =S k12

o
Which is not bounded.

Hence , the impulse response must be absolutely summable , for the system to be stable.

(d) False
Counter example :
Let
Tn
h[n]= tan(T) for _g4eu=4

Which is of finite duration

diverges (i.e. it is not absolutely summable) .

Hence the system is unstable.



(e) False
Counter example:

Let

k[f]:{i Yot

Wt

which is causal. but unstable.

() False.
Counter example:

Let

x(6) —2E s (s + 10
which is non-causal
x(6) —BE s x(r 1)

which is causal.

Cascade of the two system
?.’l:f,:l _El.';ﬂ_)_ﬁ'z.(ﬂ% Xl:ﬁ:l

which is clearly causal.

(9) False
Counter example:

Let

hie) =

Here

s(t) = u(t) *h(t)

=T;z(,1)u(f—,1);f,1

=jhaﬂ£

=k

but
+oo +o
| h)dt = [kat

which is divergent.



(h) True
Sufficiency:
Aln]=en]-sln—1]
if

dn]=0% n < 0
Letn<O

gu]l=du-11=0

Hrl=0% n < 0

=>causality.

Necessity :
Ar]=0% n < 0
sln]= A[n] * u[n]

= f: HEA T A

= h[n-4]
=

if
H{C',

then

n—A=<0% A<0

Thus s[n] =0forn<0.



Problem 3

Consider the LTI system initially at rest and described by the difference equation ylal+2y[n-1]=x[n]+2x[z-2]

Find the response of this system to the input depicted in the figure by solving the difference equation recursively.

x[n]
3
2 2 2
1 ‘ ‘ 1
2 1 0 1 2 3 4 n
Solution 3
The input can be written as:
%[n] : 1 2 3 2 2 1
T
-2

As given, the LTI system is initially at rest. Hence, since x[n]z ofor Py thus, y[.:g]: o for P (By the definition
of causality).

Now we recursively insert values of input x[n]in the difference equation.

Putting:

n=-2 y[-2]+2y[-3] = x[-2]+2x[-4] Thus, y[_2]=1-
1 y[-1] +2y [-2] =x [-1] + 2 [-3] Thus, 1] 0.
n=0 slol+2[-1]= #[o] +2x[-2]- Thus, ,[0]=5-

aet ylil2[0]= {1+ 24[-1] Thus, [1]=—4-
n=2 y[2]+2x[1] = x[2]+ 24 0]- Thus, y[2]=16-
n=3 »[3]+2y[2]= [ 3] +2x[1]- Thus, ,[3]=-27-
—y ylal2y[3)= xla]+2x[2] Thus, y[4]- 55
ues yl5]+25[4]- (5] +2[3]: Thus, [s]--114-
n=6 y[6]+2y[5]= x[8]+2z[4]- Thus, y[¢]=228-

and so on.



Thus the output y[n]  becomes as shown

y[n] 0 5 -4 16 =27 58 -114 228

4

Thus we see that the output is unbounded.

Problem 4

Consider the cascade interconnection of three causal LTI systems, illustrated in Figure (a). The impulse response is
B[] =uln]-u[n- E]and the overall impulse response is as shown in Figure (b).

o] — x[r] [—» hin] || A[n] | vl

[
pd
L
=

Fig (b)

(a) Find the impulse response ;11[;11

(b) Find the response of the overall system to the input X[#] = 8[r]- 8[n-1]-



Solution 4

(a) We know that the overall impulse response of cascaded systems is the convolution of the impulse responses of
the individual systems.

Let the overall impulse response of the cascaded system be R[n]-

Therefore using the above mentioned property, we have
hln] =y [n] ey [0y [ 2]

Since the convolution is associative in nature therefore we can say that

i) = [n ]y [ ]y [ 4])

So first convolving ;gz[n]with itself:
et s )= ]y o]
Since h,[K] is non-zero for k = 0 and 1 only, therefore we can write that
1
h[n]= 2 i k7 [n - #]
k=0

Therefore:

SIUESNAL L

1
k=0

Therefore, we have

}sz[n]: 1 2 1
T
0

Now h[n] is nonzero from O to 6 and h, [H] is nonzero from 0O to 2.

AISO, (] = iy [e]* i [ ]



Therefore ;gl[ﬂ]will be nonzero from 0 to 4.

( If a signal is non-zero in the interval (a , b )and it is convoluted with another signal which is non zero in the interval
(c,d ) then the convoluted signal is non zero in the interval (a+c,b+d).)

Let

%[n]:a
T
o

Now,

ORAL At BT A

Therefore, we have

4
h[ﬂ] = Zhl[k]hs[—k]
k=0
={a)li=1 (from the Figure (b) we have h[0] = 1)

=a=1

1= 2k )=

= (@) +(E)( =5

—=h=3

4
hl2)= 5 i [F [ 2]
= (@) (1) +(5)(2)+(c) (1) =10

—c=3

A[3]- 5[] [3-4]
= (&) (U+{e)(2)+() (1) =11

=d=2

DAL



—e=1

Therefore,

hy[]: 1 3 3 2 1
T
a

(b) We have

x[n]=5[n]—5[n—1]

To get the response, we have to convolve it with h[n] which we obtained in the part (a)

l)= Sl )

Proceeding as in part (a) above, i.e. putting different values of n and correspondingly calculating y[n],finally we get
the answer
y[0]1 =1,y[1]=4,y[2] =5 y[38] =1,y[4] =-3,y[5] =-4,y[6] =-3,y[7] = -1.

Therefore,



Problem 5
Let x(t) be a continuous-time signal, and let
y1(t) = x (2t) and y,(t) = x(t/2).

The signal y, represents a speeded up version of x(t) in the sense that the duration of the signal is cut in half. Similarly, y,(t) represents
a slowed down version of x(t) in the sense that the duration of the signal is doubled.

Consider the following statements :

(1) If x(t) is periodic, then yq(t) is peiodic.
(2) If y1(t) is periodic, then x(t) is peiodic.
(3) If x(t) is periodic, then y,(t) is peiodic.
(4) If y,(t) is periodic, then x(t) is peiodic.

For each of these statements, determine whether it is true, and if so, determine the relationship between the fundamental periods of the
two signals considered in the statement.

If the statement is not true, produce a counterexample to it.

Solution 5 :

We observe that , all the three functions are compressed / expanded versions of each other .

Thus, if we can prove any one of the given statements to be true/false , the other ones become explicitly implied (in case of continuous
signals) .

@
From the given information , we have
Liem _
xlif,:l W}}”(‘ﬂ = x(2r.)

Let T be the period of x(t) . Then , we have
O =x+T)
Inputting x(t + T) in the LSI system, will give the output as follows :

x(t+T) s x(2£+T)

x 2{z+z}
2
1[£+Z]
S

Thus we have

T
y(r}=y[f+§]

which proves the first statement to be true. And the period of the resultant signal is also compressed by half.
NOTE : The given system is linear and shift variant .

Thus the remaining three statements are also true .
And the period of the expanded signal will be twice that of original signal.

Problem 6

Let x(t) be a continuous-time complex exponential signal,
x(ﬁ) — é‘j'ﬁJUf

with fundamental frequency wg and fundamental period



To=—

W

Consider the discrete-time signal obtained by taking equally spaced samples of x(t) - that is

xu]l=xwT)= ejmﬁ

(a) Show that x[n] is periodic if and only if T / Tqg is a rational number - that is, if and only if some multiple of the
sampling interval exactly equals a multiple of the period of x(t) .

(b) Suppose that x [n] is periodic - that is, that

r _p
To g

where p and g are integers. What are the fundamental period and fundamental frequency as a fraction of
WoT .

(c) Again assuming that T / T satisfies the above equation, determine precisely how many periods of x(t) are
needed to obtain the samples that form a single period of x[n] .

Solution 6:

(a) For x [n] to be periodic with fundamental period N,
xr]=xn+ N]= @it
zéjmnméjmuﬂ'-.r

_ éjmum

For this to be true , following condition should be satisfied ...
l:}_;l'a;m.ﬂ'\f -1
il = 2k

2
e = 2k

]

T ok

To N as required to prove.

Converse is also easy to observe.
(b)) Now if T/ Tog=p/q,
fundamental period = q
fundamental frequency =1/ q = 1/p (k/ N)

And thus we have :

LR ant
"N 2w
1 o
¢ 27p

(c) Now assuming T/ Tg=p/g=k/N

Fork=p,
_pTo_ imp

N
T T

Thus , p / T periods of x(t) are needed to obtain samples that form a single period of x [n].



Problem 7

(a) Show that if a system is either additive or homogenous , it has the property that if the input is identically zero, then the output is
also identically zero.

(b) Determine a system (either in continuous or discrete time) that is neither additive nor homogeneous but which has zero output if
the input is identically zero .

(c) From part (a) , can you conclude that if the input to a linear system is zero between times t1 and t2 in continuous time or between
times nl1 and n2 in discrete time, then its output must also be zero between these same times ? Explain your answer.

Solution 7 :

@

(i) If the system is additive , following relation is true .

XUE)+ xa(f) %_yl{zj + yalt)

Now if the input is identically zero , that is
n)=mit)=xE)=10

When this is given as input to the given system , we get

K(E) + (£) —5 5y (£) + y(e) = 2p()

Jotm
2x() = x(6)
Thus, Zy(@) = i)
Thus, yit1=0

(ii) Now , if the system is homogenous , we proceed as follows :

2 () — R Dy (f)
Mow if =z(t)=0,

2uiti=u(t)
Thus, Zy(t)=¢t)
Thus yt)=0

(b) Consider a system, which is described by the following relation
¥ =sin x(8)

Observe that it has following properties : Neither additive nor homogenous ...

sina{x({)} ~%a sin x(f)
sin {x(8) + x2(£)} # sin 22 +sin x2(8)
But if the input is identically zero , sine of the input would also be identically zero .

(c) NO. It cannot be concluded that if the input is zero for a time interval , the output must also be zero for the
same interval.

For example, consider a system which gives an output which is a delayed version of the input :-
y(t) = x(t-1)

Now if X (t) =0 3<t<4
1 elsewhere

Then the output will not be zero in the interval (3,4) ...



Problem 8 :

In the concept of correlation functions , it is often important in practice to compute the correlation function

';mx (r':l where h (t) is a fixed given signal, but where x (t) may be any of a wide variety of signals. Let S be the system which takes x
(t) as the input and gives ';m” (ﬁ) as the output .

(a) Is S linear ? Is S time invariant ? Is S causal ? Explain your answers .

(b) Do any of your answer to above part change if we take as the output ';E}m I:r':' instead of ;E}kx (5) ?

Solution 8 :
By definition ;
t, ()= | hE+)x(z)dT

Replacing x (t) by cx(t) where c is a real number ,

O ()= | BlE+D)ex(n)d T =), ¢)
Similarly putting ,
FE) =5+ x, () we get
D)= | B+ D)E(DdT= | BE+7)(05(0) +x,()dT

[=a]
-

= | A+ (f)dT+ | BE+ ) (7)dT

=, )+4, @)
Thus , ';ﬁ“ (zj obeys homogeneity and additivity .
implies P ) is LINEAR |
NEXT , substituting x (t) by x (t-tg)

De(t)= [ B+ A+8)x(DAA

O, ()= | B+ A+t)x(AdA
Now , Substituting , + = ¥~ T0 e get o
b (t—t)= [ At +7)x(r)dr

a (t-1t, o, (¢t
Hence %”( D) need not be equal to ! hx( ’} for all x (t) and tg.

Hence ';E}“(f‘) is shift-variant .

Rty =et
t and let x (t) = u (t)



. (t)= [ ht+0)(c)dr = |etdr =t
o [

Now ,

Even though x (t)=0 for t<O0, i (2) is non-zero fort < 0 .

This counterexample shows that the auto correlating system is non-causal.

(b) The system remains linear (homogeneous and additive) and non-causal. The system becomes shift invariant.

o, (£)= T At +T)c(r)dT

-0
Replacing x (t) by x (t-tg) , we get

[Fal

bat)= [ xt-t+00h(dr  @4lt-4)=[(t -t +7)h(r)dr

i and

E‘Tjrxh (i} = ‘.:"jm (f— fu,}

Hence for all signals x (t) and all values of tg .

Thus @&(3) is a shift-invariant system .

Problem 9 :

(a) Show that if the response of an LTI system to x(t) is the output y(t), then the response of the system to

dx(t

)= EO
cdt

is y'(t). Do this problem in three different ways:

(i) Directly from the properties of linearity and time invariance and the fact that:

vin i XE) - X(E—171)
x ) lhl_rg—h

(ii) By differentiating the convolution integral.
(iii) By examining the system in Figure 1.

X(t) =——t ul(t) hil(t) —— y(t)

Y

(b) Demonstrate the validity of the following relationships :-

Eyie) = x() * &)

x(t) = ;.& cos(wif + gx)

[Hint: These are easily done using block diagrams as in (iii) of part (a) and the fact that

uit) = ualt) = &t

(c) An LTI system has the response y(t) = sinwot to input x(t) = exp [-5t] . u(t). Use the result of part (a)
to aid in determining the impulse response of this system.

(d) Let s(t) be the unit step response of a continuous-time LTI system. Use part (b) to deduce that the
response y(t) to the input x(t) is



y(f)zz.x'(f)s(f—f)dr

D)

Show also that

x(t) = J' X - r)dr.
- cm)
(e) Use equation ( | ) to determine the response of an LTI system with step response
s =™ - 227 +1ul)
to the input x (t) = exp [t] . u (t).

() Let s[ n] be the unit step response of a discrete - time LTI system. What are the discrete - time counterparts of equations ( I ) and (
11)?

Solution 9 :

@

x(t) -------- LTI system--------- > y(t)
=> Xx(t+h) -----------o—- > y(t+h) ... (¢H) [ from shift invariance property]
& -x(t) -—--mmmmmmmmmmeee- > -y() 2) [ from homogeneity]

now applying additivity in above 2 equations
X(t+h) - x(t) --------mmmmmmmmmo - > y(t+h) -y(t) .......... 3)

now applying homogeneity in equation (3)

@/n) [x(t+h) - x(®) ] ------------mm--- > (1/h) [y(t+h) - y(1) ]
i (L) [ () - X(t) ] —vemreeeeeee > lim (1/h) [ y(t+) - 308 |
X()  =mmmmmmmmmeeeeeeaas > y'(®

x@¢) * h)
T n() x@¢— Ay dA

-]

@) y)

Differentiating both sides w. r. t. t

oo

yE) = Ih(ﬂu)x'(f—}%) dA

oo

= -h*x'(f)

which is the output to the input x(t)



(iii)

h(t) 5 YO

— Y(B)

[ As Convolution is Commutative ]

‘__) Y(t)

a(t)
«(t) ult) 5 h(t)
Let
ul(t a(t)
() ——— ® 5
Hence a(t) = x'(t)
h(t) N (3
Xt —>
We can also write as
b(t)
X(t) — h(t) S ul(t)
=> y(t) = b(®)
=>Y() = y'(D)
hence output to the input x'(t) is y'(t)
(b) 1
«(t) ul(t) 5 h(t)
or equivalently
x(t)—=>|  hL(t) —>Y(b)

where




M@ = w(E) *a)

= Th(,’l) it — 2) d

T h(h) % w(t - A) da

g
— J; RO u(t—2A) dAa

h)
Yty = x@)*h'e)

@) ¥ty = ([x@ydr) * B'@) = x'¢) *( | h(r)dr)

X(t) ——> h(t) —>v()

x(@) 205K
I(f) 11 1] Y ul[ 1] Y hit) »_)»’(f)
[ 1) * @) = S0)]

U

U

xrydr 0 0, ()

x(r)dr —2 5 y() [ () * ) = 2')]

i
|

(3 =(jx(r)d1‘) * B'(E)

Again

x(t) 225 HD 5y

I(f) wif) . wgy) L R ‘}"(f)
[u 1) * ) = @)

= x'f) —20 MO, )

= x() 22 ()

U U

where {heq(f) =u -1{f)* k() = j.h(r)dr}

PR = 2 *( jh(f) dr)



(c)
x(H)=eu() —2 y(f) = sin ot
~ox(H) s v

= —5e”ut) +e 7)) — s @o sinaot

= —Seu)+ 5¢) s ansinwd  ...(1)
[ ™50 = 50)]

now Seu() — s Ssinant .. (2)
[ from Homogeinity]

appling linearity property in (1) and (2)
&) —— wo sinwd + 5 sin gof

(d)
s@) = AE)*u@)

= _[h(;l) u(t — A) dA

= jh(ﬂ,) dA ..
now from part ()
yiE) = x'@) * (Ih(i) di) --(2)

= y@O =x) *s0)
rpowput R(E) = &(F) in equation (2)

x@) =x'@) * ([ 5(A)dA)

= x() =x'¢) * uld) j[ﬁ(;i) di = u(f)}



(e) x(f)=euft)
=x'(t)=eult)+ 8(t)e’
=x'(t)=eult)+(t)

) =x"t)*s(t) [ﬁ"ompari(d)]

- T{ glu[,’{ I+ 3[4 )} { PR P e I 1}1',4: (- A)dA

et { FIR I Pa 1} A+ (8_3’ —2e M4 lju(f)

O e, 4 ) oy, "+

[E—S:Hl_ze—zrﬁl +£’l)di +S[f:l
= %ea’[e‘“—1)—%9'2’[33’—1)+(e’ —1)3[3)

L T s(t)
4 3 12

Problem 10 :
(a) Consider an LTI system with input and output related through the equation :-

y(£) = j e ilyir—2dT

—

What is the impulse response h ( t) for this system ?

(b) Determine the response of the system when the input x ( t) is as shown below :-

it

Solution 10 :
(a) Comparing the given input output relation with the standard form :

¥

y(£) = [ e T - D)dT

-

and

w

it = j;z(z—r)x(r)dr

-

Bt = ™Mt —2)

we observe that ,



Also, the input gets shifted by 2 units to the right and then convolved with the impulse response h (t) ...

(b) Now for the given input, first of all shifting the input to the right , we get

W it-2)

Now using the given relation , we get the output as follows :

t
y(f) = jl.e-“-“df
1 for-1<t<2

4
y(£) = jl.g-“-*uf
1

And fort > 2
]
That is : yifi=l-e for-1<t<?2
_ oM -l
yit)=¢ # fort > 2
Problem 11 :

Let h(t) be the impulse response of a causal and stable LTI system with a rational system function.

Is the system with the impulse response dh(t)/dt guaranteed to be causal and stable ?

i;g(f)aff

(b) Is the system with impulse response —= guaranteed to be causal and unstable ?

Solution 11 :

(a) Causal system implies that the impulse response is zero for =0

When we take the derivative, strictly speaking we are not doing a point-wise operation, but are involving h(t-At) also. However, the derivative is still zero for any given
time t(<0. so, the system remains causal.

t
dh
[1=df <o
Stable system requires the impulse response to be absolutely integrable, i.e. ==

We cannot generalise anything about this without sufficient information about h(t). For example, if h (t) = elu(t) then the impulse response of the new function shows that
it is stable. But if h (t) = sin (t2) then dh/dt is 2t cos(tz) which is not absolutely integrable, and the system is thus unstable.

)

Since h (t) = 0 for t<0, the given integral can be written as  * for t>0, and the integral is easily seen to be zero for t<0. Hence the system is necessarily causal.

For stability, we can consider a system with impulse response h(t) = e’lu(t) so that the integral gives the response of the new system as

c—J le dt—le "—1)ule)
‘ which is bounded above by etu (t) and hence is absolutely integrable thus giving a stable system.
On the other hand, we see that systems with impulse responses like h (t) = 1/t2 will not lead to a stable derived system.



Problem 12 :

(a) Show that the three LTI systems with impulse response
hp(O=u (V)

ho(t)= -2 8 (t) +5 et u (1)
And

hs (t) = 2te”tu (1)

All have same responses to
X (t) = cos (1).

(b) Find the impulse responses of another LTI system with the same response to cos (t). This problem illustrate the fact that the
response to cos (t) cannot be used to specify an LTI system uniquely.

Solution 12 :

(&) 21 =Cost
Taking Feuner transform

1 1 1
X(f)—g{@(f-ﬁﬁr@(ﬂ ﬁ)}

Impulse response of the system 113
hyt) = ult)
Frequency response of system 115
1
H = —— + ®d
() Dint (£

Similarly for other systems: -

hy (1) = -23(t) + 5e " u (1)
== Hy(f) = } [ -23(0) + Settu(t) ] e 4t

-

= 2+ ]5.3““”'“3 dt

3
H,ifh= -2 +
20 o+t
h, it = 2te™ulf)
Let
=)= etult)
N = Ie* e 3t i dt
_ ]«e-thzam dt
LO= —
! 1+i2nf
ho(ty = 2tz ()
Therefore,
jd 30 i
H,if)= ﬁ 1) as frequency response of  tx() = £ d X it =(t)'s Fourier transform 1z ()
2o df 2w df
== H,() = —

(1+i2af )



(<)) Let there be another system with the frequency response H, (f) having the same response to input zit) = Cos t
== T, )= Xi) H, ()
By part (a) we know that

1 1 1
T, fy= — {&f-—)- &f +—
5 () 2j{( 2ﬁ) { 2ﬁ)}
We can rewrite Y, (F) as-

[ 1 1.1 1 1
&= 3{3@-%)- 5(f+§)}- 5{5(f-§) + 5(f+§)}

= () = %{acf-;—xy a(f+$)} X(6)

[1 1 1]
=B = |S(eE- 5 o + o))

By takung Inverse Fourter transform, we get .-
h,(th= Z5int
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